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• Instructions: 

• There are Five (5) sections in this question paper. 

• 1. Section-A; Questions 1-16 consists of Objective 

Type Questions of 1 mark each. 

• 2. Section-B; Questions 17-22 are Short Answer Type 

Questions carrying 3 marks each. 

• 3. Section-C; It consists of Questions 23-26. It is 

Source Based  Questions carrying 4 marks each. 

• 4. Section-D;It consists of Questions 27-31 Long 

Answer Type Questions carrying 5 marks each. 

• 5. Section- E; It consists of Map based Questions 

carrying 5 marks with two (2) parts. 

• 32.1 from History.    ( 2 marks) 

• 32.2 from Geography (3 marks) 

•                   SECTION -A 

• # Choose the correct answer 

• _________ is the author of Hind Swaraj'. 

• (a) Motilal Nehru.   (b) B.G. Thilak 



(c) Mahatma Gandhi.  (c) C.R. Das 

2. ________ is the biggest port with a 

spacious natural and well-sheltered 

harbour. 

(a) Mumbai (b) Visakhapatnam 

(c ) Kochi     (d) Tuticorin 

3. _______ has enabled some large 

Indian Companies to emerge as 

multinationals themselves. 

(a) Liberalisation (b) WTO 

( c ) Globalisation ( d) SEZ 

4. The creation of _______ was first and 

major test for democratic politics in our 

country. 

( a) Language Policy ( b) Local Bodies 



(c ) Restructuring Centre- State relations 

(d) Linguistic states 

Fill in the blanks: 

5. The Civil Code of 1804- usually known 

as ________ did away with all privileges 

based on birth, established equality 

before the law and secured the right to 

property. 

6.The first challenge of political parties is 

  _______  within parties. 

7. The Self Help Groups help borrowers 

to overcome the problem of ______. 

8. UNCED is _______. 

# Very Short Answers:- 

9. What is Manufacturing ? 



10. Why money is termed as the 

medium of exchange ? 

11. Define Forced Recruitment:- 

12. Define defection- 

# Passage Based Questions:- 

# Read the passage and answer the 

questions below given:- 

Ford Motors, an American company is 

one of the largest automobilr  

manufacturing company with production 

spread over 26 countries of the world. 

Ford Motors cane to India in 1995 and 

spent ₹1700 corre to set up a large plant 

near Chennai. This was done in 

collaboration with Mahindra and 

Mahindra, a major Indian manufacturer 



of jeeps and trucks. By the year 2004, 

Ford Motors was selling 27,000 cars in 

the Indian markets, while 24,000 cars 

were exported from India to South 

Africa, Mexico and Brazil The company 

wants to develop Ford India as a 

component supplying base for its other 

plants across the globe. 

Answer the following questions: 

a. Would you say  Ford Motors is an 

MNC ? Why ? 

b. In what ways will the production of 

cars by Ford Motors in India lead to 

interlinking of production ? 

c. In how many countries the Ford 

Motors spread over ? 



d. What was the aim of the Ford 

India? 

#  Short Answer Type Questions:- 

17. Write a newspaper report on the 

Jalianwala Bagh massacre:- 

18. Analyse the role of ‘ credit’s for 

development:- 

19.What was the new culture of Power 

Sharing developed after 1990 ? 

20. Explain the importance of 

Conservation of Resources:- 

21. State any three (3) merits of 

Roadways:- 

22. Discuss the expanded scope of 

democracy in the modern world:- 



# Source Based Questions:(23-26) 

23. What is meant by ‘Satyagraha’? 

24. What do you mean by Power 

Sharing? 

25. What is the role of government in 

Public Sector? 

26. Why is iron and steel industry called 

the basic industry ? Explain any three 

(3) reasons. 

                SECTION D 

# Long Answer Type Questions:- 

27.  What changes did  Napoleon 

introduce to make the administrative 

system more effective ? 



28. What is the difference between a 

federal form of government and a 

unitary one:- Explain with an example:- 

29. Write about the Role of Information 

Technology Industry in modern India:- 

What are Software Technology Parks 

and where in India they located? 

30. How did the Civil Disobedience 

Movement differ from Non-Co-

Operation Movement ? 

31. How do industries pollute air and 

water  ? Explain with examples. 

             SECTION E 

Map-based Questions. 

32.1. Mark the following places in the 

outline political map of India: 



A. Place where the Indian National 

Congress made a compromise with Non-

Co-Operation Movement. 

B. Place where Indigo planters 

movement taken place. 

32.2.(a) Netaji Subhash Chandra Bose 

International Airport. 

(b) Pradeep port 

(c ) The area where black soil is available. 
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